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Enrollment No: _______________________         Exam Seat No:_______________________ 

C. U. SHAH UNIVERSITY 

Winter Examination-2019 

 

Subject Name : Engineering Drawing 

Subject Code :  2TE02END1           Branch:  Diploma (All)  
Semester : 2         Date :  18/09/2019           Time : 2:30  To 5:30             Marks : 70 
Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 

(4) Assume suitable data if needed. 

 
Q-1  Four options are given below the question. Select the right option and write 

the answer. 

(14)  

 a)  Engineering Drawing is often called the universal language of,  

(a) Authors.     (b) Engineers.     (c)      Managers.     (d) Readers. 

 

 b)  A perfectly straight, made of hard durable wood inserted along one edge of 

the Drawing Board and used to guide the T-square, edge is called, 

(a)     Straight edge.    (b)     Wooden edge    (c)   T-square edge.   (d)   

Working edge. 

 

 c)  To draw circles and arcs in drawing sheet, 

(a)        Divider is used.              (c)       Compass is used. 

(b)        Protractor is used.        (d)       French curve is used. 

 

 d)  In a Set-square two angles are 30˚ and  60˚, while third angle is, 

(a)        45˚     (c)        100˚     (b)       90˚       (d) 120˚. 

 

 e)  T- Square is made of two parts, 

(a)         Set-squares and screws.  (c) Stock and blade.    

(b) Screws fitted board.  (d) Two batons at right angle. 

 

 f)  Which of the following is not included in title block of drawing sheet. 

(a)     Sheet No     (b)     Scale      (c)     Method of Projection      (d)     Size of 

sheet 

 

 g)  When very small sub divisions are required to be made in drawing, then 

(a)       Plain scale can be used. (c) Diagonal scale can be used. 

(b) Scale of chord can be used. (d) Logarithmic scale can be used.  

 

 h)  To divide a circle into 12 equal parts, 

(a)         Compass can be used.                  (c) Protractor can be used. 

(b)        30-60 set-squares can be used.    (d)  All of the above can be used. 

 

 i)  When eccentricity is less than 1 (one), the curve is, 

(a)  an Ellipse       (b)        a Parabola.      (c) a Hyperbola.         (d)

 None of the above. 

 

 j)  An ellipse can be drawn by, 

(a)  Arc of circle method.  (c) Directrix and Focus method. 

(b) Rectangle method  (d)  All of the above methods. 
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 k)  When a circle rolls along a straight path without slipping, the path drawn by 

any 

point on the circumference of the circle is known as,   

(a)      a Hyperbola.     (b)      an Epicycloids.     (c)     a Cycloid.    (d)     

Involutes. 

 

 l)  Two planes HP and VP are right angles to each other in the XY-line, this line 

is called as, 

(a) Centre line.  (c) Reference line. 

(b)          Dimension line. (d) Continuous line. 

 

 m)  When a straight line is parallel to HP, which view of the line will be true 

length? 

(a) Elevation (Front view).   (c) Side view. 

(b) Plan (Top view).   (d) None of the above. 

 

 n)  In a top view, which dimensions  can be read from the following, 

(a) Length and width.   (c) Length and height. 

(b) Width and height.   (d) None of the above. 

 

 

Attempt any FOUR questions from Q-2 to Q-8 
 

Q-2  (a) Divide a 109 mm long ‘AB’ line, into 7 equal divisions. (5) 

  (b) Construct a regular Pentagon of 35 mm sides using General method. (5) 

  (c) Name any FOUR engineering drawing instruments and state their usage. (4) 

    

Q-3   (a) Construct an Ellipse by rectangle (Oblong) method, major axis is 120 mm 

and minor axis is 80 mm long. 
(7) 

   (b) Draw a Parabola using tangent method. Base of the parabola is 80 mm and 

axis is 60 mm long. 
(7) 

    

Q-4 (a) 

 

Draw a cycloid of 35 mm diameter circle for complete one revolution. Keep 

starting point of curve at the below of the vertical diameter. 
(7) 

 

 (b) Draw Involutes of a hexagon having side 25 mm for complete one revolution.  (7) 

    

Q-5 (a) A straight line AB, 75 mm long is inclined 30º to HP and 45º to VP. Point A 

is 15 mm above HP and 20 mm in front of VP. Draw its projections. 
(7) 

 (b) A line PQ, 100 mm long has its end P, 5 mm above HP and 20 mm in front of 

VP while other end Q is 50 mm above HP and 60 mm in front of VP. Draw 

the projections and illustrate its inclination with HP and VP. 

(7) 

    

Q-6 (a) A hexagonal plate of 20 mm sides is resting on one the sides on HP. Surface 

of the plate makes an angle of 45º to HP. Draw the projections of the plate. 
(7) 

 (b) 

 

 

A Circular plate of 40 mm diameter is resting vertically on one of the point 

on circumference of the plate on HP, so that it makes an angle of 30º with 

VP. Draw the projections of the circular plate. 

(7) 

    

Q-7 (a) A pictorial view of an object is shown in Fig. 1. Draw to full size its 

following views using ‘First Angle Projection Method’. Use ‘Unidirectional 

system’ of dimensioning..  

i.   Front view looking from – X. 

ii   Top view. 

(10) 
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 (b) Name any FOUR types of lines used in Engineering Drawing and state their 

usage.. 
(4) 

    

Q-8 (a) Two views of an object are shown in Fig. 2. Draw the Isometric view. (10) 

 (b) FOUR AutoCAD commands and state their usage. 

 
(4) 

  ગજુરાતી  

પ્ર. ૧  એક પ્રશ્નના ચાર વિકલ્પ પ્રશ્નની નીચે આપે઱ા છે. યોગ્ય વિકલ્પ પસદં કરી પ્રશ્નનો 
જિાબ ઱ખો. 

(૧૪) 

 ૧ એન્જીનીમયીંગ ડ્રોઈંગ વલવવ્મા઩ી બા઴ા છે જેનો લાયંલાય કોણ ઉ઩મોગ કયે છે? 

(અ)     રેખક     (ફ)   એન્જીનીમય    (ક)    ભેનેજય    (ડ)    લાચંક 

 

 ૨  વખત રાકડાની ફનેરી ડ્રોઈંગ ફોડવની ધાય ઩ય રગાડેર એકદભ વીધી ઩ટ્ટીન ેશ  ં
કશલેામ છે?  

(અ)    વીધી ધાય    (ફ)    રાકડાની ધાય  (ક)   વેટ સ્ક્લેયની ધાય   (ડ)   કાભની 
ધાય      

 

 ૩ ડ્રોઈંગ ળીટભા ંલર્ વ઱ અને ચા઩ દોયલા ભાટે, 

(અ)  ડીલાઇડય લ઩યામ છે.   (ક)   કમ્઩ાવ લ઩યામ છે   

(ફ)  પ્રોટે્રકટય લ઩યામ છે     (ડ)   ફ્રેંચ કલવ લ઩યામ છે 

 

 ૪ એક વેટ સ્ક્લેયના ફે ખણૂાઓ ૩૦˚ અને ૬૦˚ છે ત્રીજો ખણૂો કેટરો શોમ છે?  

(અ)     ૪૫˚    (ફ)     ૧૦૦˚    (ક)     ૯૦˚     (ડ)     ૧૨૦˚ 

 

 ૫ ટી-સ્ક્લેય ક્યા ફે બાગોન  ંફનેલ  ંશોમ છે? 

(અ)    વેટ સ્ક્લેય અને સ્ક્ર     (ક)     સ્કટોક અને બ્રેડ  

(ફ)   સ્કુ પીટ કયેલ ફંોડવ     (ડ)      કાટખણૂે ફે ઩ટ્ટી જોડીને  

 

 

 

 

 ૬ નીચેનાભાથંી ટાઈટર બ્રોકભા ંળેનો વભાલેળ નથી થતો?  

(અ)     ળીટ નફંય      (ફ)     સ્કકેર    (ક) પ્રકે્ષ઩ણની યીત      (ડ)  ળીટની 
વાઈઝ  

 

 ૭ ડ્રોઈંગભા ંખફૂ જ નાના ભા઩ો દળાવલલા ક્યા સ્કકેરની જરૂય ઩ડે છે?   

(અ) પ્રેન સ્કકેરનો ઉ઩મોગ થામ છે      (ક)   ડામાગોનર સ્કકેરનો ઉ઩મોગ થામ 

છે  

(ફ) સ્કકેર ઓપ ચોડવનો ઉ઩મોગ થામ છે    (ડ)   રોગાયીઘ્મભક સ્કકેરનો ઉ઩મોગ 

થામ છે 

 

 ૮ લર્ વ઱ના ૧૨ (ફાય) વયખા બાગ કયલા શ  ંલ઩યામ છે?  

(અ)        કમ્઩ાવ લ઩યામ છે                                (ક) પ્રોટે્રકટય લ઩યામ છે  

 



Page 4 of 6 

 

 

(ફ)        ૩૦-૬૦ ના વેટ સ્ક્લેય લ઩યામ છે   (ડ) ઉ઩યના ફધા લ઩યામ છે   

 ૯ જમાયે એવેન્જટ્રીવીટી એક કયતા ઓછી શોમ ત્માયે કમો કલવ યચામ છે?  

(અ)     ઈરીપ્વ      (ફ)     ઩ેયાફોરા      (ક)   શામ઩યફોરા     (ડ)   ઉ઩યના એક 

઩ણ નશીં  

 

 ૧૦ ઈરીપ્વ, નીચેનાભાથંી કઈ કઈ યીતે દોયી ળકામ છે?  

(અ) આકવ  ઓપ વકવરની યીતથી    (ક)    ડામયેકટ્રીક્ષ અને પોકવની યીતથી  
(ફ)    રફંચોયવની યીતથી          (ડ)     ઉ઩યની ફઘી યીતથી  

 

 ૧૧ જમાયે કોઈ લર્ વ઱ વીધા યસ્કતા ઩ય વયક્યા લગય ગફડર્  ંશોમ ત્માયે લર્ વ઱ના 
઩રયઘ ઉ઩યના બફિંદ  લડે યચાતા લ઱ાકંને શ  ંકશલેામ છે? 

(અ)        શામ઩યફોરા         (ક)       વાઈકરોઈડ  

(ફ)        એ઩ી વાઇકરોઇડ     (ડ)       ઇન્જલોલ્ય ટવ  

 

 

 

 ૧૨ ફે પ્રકે્ષ઩ વ઩ાટી  HP અને VP એકફીીને XY યેખાભા ંકાટખણૂો ફનાલે તે યેખાને 

શ  ંકશલેામ છે?   

(અ) વેન્જટય યેખા    (ફ)    ભા઩ યેખા    (ક) વદંબવ યેખા     (ડ)     વ઱ંગ યેખા  

 

 ૧૩ જ્માયે વીધી યેખા HP ને વભાતંય શોમ, ત્માયે ક્યો દેખાલ યેખાની ખયી રફંાઇ 

ફનળ?ે 

(અ) વાભેનો દેખાલ        (ક)       ફાજ નો દેખાલ 

(ફ) ઉ઩યનો દેખાલ        (ડ)       ઉ઩યભાથંી એક ઩ણ નરશ  

 

 ૧૪ ઉ઩યનાદેખાલભા,ંનીચેનાભાથંી ક્યા ભા઩ો લાચંી ળકામ છે? 

(અ) રફંાઇ અને ઩શો઱ાઇ     (ક) રફંાઇ અને ઊંચાઇ 

(ફ) ઩શો઱ાઇ અને ઊંચાઇ     (ડ) ઉ઩યભાથંી એક ઩ણ નરશ 

 

  પ્રશ્ન ૨ થી ૮ માથંી કોઈ પણ ચારના ઊત્તર ઱ખો.  

પ્ર. ૨ (અ) ૧૦૯ ભીભી. રાફંી AB યેખાના ૭ (વાત) વયખા બાગ કયો. (૫) 

 (બ) જનયર ભેથડનો નો ઉ઩મોગ કયીને, 35 ભીભી. ફાજ લા઱ા ઩ચંકોણ ની યચના કયો.  (૫) 

 (ક) કોઈ ઩ણ ચાર એન્જીનીમયીંગ ડ્રોઈંગના ંવાધનોના નાભ રખો અને તેના ઉ઩મોગ 

દળાવલો. 
(૪) 

    

પ્ર. ૩ (અ) રફંચોયવની યીતથી ઈરીપ્વ દોયો. ભોટી ધયી ૧૨૦ ભીભી. અને નાની ધયી 
૮૦ભીભી. છે.   

(૭) 

 (બ) સ્ક઩ળવકની યીતથી ઩ેયાફોરા દોયો.઩ામો ૮૦ ભીભી. અન ેધયી ૬૦ ભીભી. છે.    (૭) 
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પ્ર. ૪ (a) 

 
૩૫ ભીભી. વ્માવના, વપંણૂવ એક આંટા ભાટેના, ઊબા વ્માવના નીચેના છેડેથી ળર  
થતા ંચ્જ (Cycloid) ની યચના કયો.   

(૭) 

 

 (b) ૨૫ ભીભી. ફાજ લા઱ા ઴ટ્કોણના પ્રતતકેન્જરજની યચના કયો.  (૭) 

    

પ્ર. ૫ (અ) વીધી યેખા AB, ૭૫ ભીભી.રફંાઈની, આડી વ઩ાટી વાથ ે૩૦º અને ઊબી વ઩ાટી 
વાથે ૪૫ºનો ખણૂો ફનાલે છે. બફિંદ  ‘A’આડી વ઩ાટી ની ઉ઩ય ૧૫ ભીભી. અને ઊબી 
વ઩ાટીની વાભે ૨૦ ભીભી. છે. આ યેખાના પ્રકે્ષ઩ દોયો. 

 

 (બ) ૧૦૦ ભીભી. રાફંી PQ યેખાનો P છેડો આડી વ઩ાટી ની ઉ઩ય ૫ ભીભી. અને ઊબી 
વ઩ાટીની વાભે ૨૦ ભીભી. છે. ફીજો છેડો Q આડી વ઩ાટી ની ઉ઩ય ૫૦ ભીભી..અન ે

ઊબી વ઩ાટીની વાભે ૬૦ ભીભી. છે. આ યેખાના પ્રકે્ષ઩ દોયો.અને યેખાના આડી 
વ઩ાટી અને ઊબી વ઩ાટી વાથેના ખણૂાઓ ળોધો. 

(૭) 

    

પ્ર. ૬ (અ) ૨૦ ભીભી. ફાજ લા઱ી એક ઴ટ્કોણ પ્રેટ તેની એક ફાજ  ઩ય આડી વ઩ાટીભા ં
ટેકલેરી છે. પ્રેટની વ઩ાટી આડી વ઩ાટી વાથ ે૪૫ºનો ખણૂો ફનાલે છે..આ પ્રેટના 
પ્રકે્ષ઩ દોયો.        

(૭) 

 (બ) 

 

૪૦ ભીભી.વ્માવની ગો઱ાકાય પ્રેટ તેના ઩યીઘના એક બફિંદ  ઩ય આડી વ઩ાટીભા ં
ઊબી છે. જેથી તે ઊબી વ઩ાટી વાથે ૩૦º નો ખણૂો ફનાલે છે. આ પ્રેટના પ્રકે્ષ઩ 

દોયો. 
 

 

 

  (૭) 

    

પ્ર. ૭ (અ) આકૃતત-૧ ભા ંએક ઩દાથવની બચત્ર પ્રતતભા આ઩ેર છે ‘પ્રથભ કોણીમ પ્રકે્ષ઩ણ’ની 
યીતે પયૂા ભા઩થી નીચેના દેખાલ દોયો. 
૧.   X – તયપથી જોઇને વાભેનો દેખાલ.     ૨.   ઉ઩યનો દેખાલ.     

(૧૦) 

 (બ) એન્ન્જજનીમયીંગ ડ્રોઇંગભા ંલ઩યાતી કોઇ ઩ણ ચાય યેખાના નાભ સ્કકેચ દોયીને રખો 
અને તેના ઉ઩મોગ દળાવલો.   

(૪) 

    

પ્ર. ૮ (અ) આકૃતત-૨ ભા ંએક ઩દાથવના ફે દેખાલ આ઩ેર છે. તેની ર્ લ્મપ્રતતભા (Isometric 

view) દોયો.  
(૧૦) 

 (બ) કોઈ ઩ણ ચાર AutoCAD કભાન્જડના નાભ રખો અને તેના ઉ઩મોગ દળાવલો. 
 

 

(૪) 
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